Geometry - Trigonometry Cosine Rule

P

G

10.5 cm
8.3 cm

Calculate the length of OR.
Give your answer correct to 3 significant figures.

In any triangle ABC
C

N
4 B Cosine Rule a*= b*+ ¢*~2bc cos A

c
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10m
12m

I15m
B

Calculate the size of angle BAC.
Give your answer correct to one decimal place.

(3 marks)
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'

G

10.5cm
83cm

Calculate the length of OR.
Give your answer correct to 3 significant figures.

In any triangle ABC
C

N
A B Cosine Rule a*=b*+c¢*~2bc cos A

c

L 10.57‘4/321— 2 xlO.S'xX.KcoséZ°

P

fl = 97.31

P = Ja13

p = A.8L em



Geometry - Trigonometry Cosine Rule
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I12m

I15m
B

Calculate the size of angle BAC.
Give your answer correct to one decimal place.

Cosine rule 4\1 = bla—al — 2be cosA
2be cosA = 52-*&1_"‘\1
A = brac —a™
6 =5
6§ 7 be
cos A = 1014—!11—'51
(leOXIL)
cos A = O.0T7491b6
A = Cog-'(O.O_I‘ﬁ(C,Q)
A = 8S.85°

2 BAC = g5 (3 marks)
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